*Appendix C:  MAKING BAR GRAPHS with ERROR BARS in STATA

*Graph of current smoking prevalence by race and grade


*Replace the file pathway (line 3) with the pathway to your HYS data


*Modified from UCLA/s Stata website at: *http://www.ats.ucla.edu/stat/stata/faq/barcap.htm

*----------------------------------------------------------------------


*Set up for survey analysis, this example is for state sample analysis


clear


set mem 300m


use "C:\Documents\HYS data.dta"


gen fakewt=1


svyset [pweight=fakewt], psu(schnum)

*----------------------------------------------------------------------


*create a new race variable with only the groups you want to graph


drop if g06==7


drop if g06==8


drop if g06==.


gen race=g06


recode race 1=1 2=2 3=3 4=4 5=1 6=5


lab def newrace 1"API" 2"Indian" 3"Black" 4"Hispanic" 5"White"


lab val race newrace

*----------------------------------------------------------------------


*recode the d14use variable to be 0, 1 so we get the correct mean ///  and drop some of the response options from the race variable


recode d14use 1=1 2=0

*create a mean current cigarette smoking prevalence 

collapse (mean) meand14use= d14use (sd) sdd14use=d14use /// (count)  n=d14use, by(grade race)

*----------------------------------------------------------------------


*generate a simple two-way bar graph


graph bar meand14use, over(race) over(grade)

*add some color to the graph and make it a bit easier to read by /// adding asyvars


graph bar meand14use, over(race) over(grade) asyvars

*create the high and low values of the confidence interval


generate hid14use = meand14use + invttail(n-1,0.025)*(sdd14use / sqrt(n))


generate lod14use = meand14use - invttail(n-1,0.025)*(sdd14use / sqrt(n))

*add error bars to the graph


graph twoway (bar meand14use race) (rcap hid14use lod14use race), by(grade)

*----------------------------------------------------------------------


*to make a color two-way bar graph with error bars set up single /// variables for each race and grade


gen graderace=race if grade==6


replace graderace=race+10 if grade==8


replace graderace=race+20 if grade==10


replace graderace=race+30 if grade==12


sort graderace


list graderace grade race, sepby(grade)

*create a single graph with all of the data


twoway (bar meand14use graderace)

*add confidence intervals


twoway (bar meand14use graderace) (rcap hid14use lod14use graderace)

*----------------------------------------------------------------------


*to add color overlay four seperate graphs


twoway (bar meand14use graderace if race==1) ///

         (bar meand14use graderace if race==2) ///

         (bar meand14use graderace if race==3) ///

         (bar meand14use graderace if race==4) ///

         (bar meand14use graderace if race==5) ///

         (rcap hid14use lod14use graderace)

*----------------------------------------------------------------------


*add a legend and labels


twoway (bar meand14use graderace if race==1) ///

         (bar meand14use graderace if race==2) ///

         (bar meand14use graderace if race==3) ///

         (bar meand14use graderace if race==4) ///

         (bar meand14use graderace if race==5) ///

         (rcap hid14use lod14use graderace), ///

legend( order(1 "API" 2 "Indian" 3 "Black" 4 "Hispanic" 5 "White"))/// xlabel( 2.5 "6th Grade" 12.5 "8th Grade" 22.5 "10th Grade" 32.5"12th /// Grade", noticks)xtitle(Grade) ytitle(Mean Current Smoking Prevalence) /// title(Current Cigarette Smoking) subtitle(by Race and Grade) note /// Source: 2004 HYS)

